common-emitter amplifier is inherent-
Iv high, but can be lowered by apply-
ing negative feedback.” As a result, the
output resistance becomes inversely
proportional to the transconductance.
g, and the feedback factor,

I
.= (1)
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In order to obtain a closed-loop gain ol

34, the feedback factor must be 1/34.

For an output resistance of 30m¢€2 the
transconductance should be approxi-
mately 1000A/V. This requires a cas-
cade of at least three gain stages: an
input transconductance stage and two
current gain stages.

How it works

The simplified circuit diagram of the
amplifier is depicted in Fig. 1. Its input
stage, consisting of a differential tran-
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Fig. 1. Simplified circuit diagram of the Class-AB amplifier featuring new driver stage.



